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4.  %FD><F5?LEF6>. 
5.  �ND>>D4F<O.
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?5D6O< <7D>>>< EF4=>6<FEO ?D5F5=45=F, G >>F>D>7> 5EFL EF4=F<O E =4<5>?LL<< =><5D><. �>EF46LF5 4><<> MF>7> <7D>>4 =4 ?5D6>5 45?5=<5 65DE=57> DO44 
FD5>4 ?>DO4>4 E>44. �4F5< ?> F5< 65 ?D46<?4< >?D545?<F5 ?>DO4>> E>44 >EF46L<EEO GG4EF=<>>6.

�4?><<=4=<5: 6 =4G4?5 ?4DF<< ?>DO4>> E>44 >?D545?O5FEO E?GG4==O< >5D47><.

�D<<5D: 6 E5F< �4?<=O 6 7>D>4>6, 6 E5FOE �5FD4 < �D<EF<=O ?> 5 7>D>4>6, 4 6 E5F< �<><FO 4 4. �4?<=4 
EF4=>6<FEO ?5D6O< <7D>>>< < EF46<F E6>= 4><<> =4 ?5D6>5 45?5=<5 FD5>4 ?>DO4>4 E>44. ' �5FD4 
< �D<EF<=O =<GLO 74 6F>D>5 <5EF>, ?>MF><G >=< ?D>65DONF, G >>7> <7 =<E 5EFL EF4=F<O E =4<5>?LL<< =>-
<5D><. %4<4O 4>D>74O EF4=F<O �5FD4 4 E =><5D>< 17, 4 G �D<EF<=O 4 E =><5D>< 15. &4><< >5D47><, 
�UFD EF4=>6<FEO 6F>DO< ?> ?>DO4>G E>44, 4 �D<EF<=4 4 FD5FL5=. � =4>>=5F, �<><F4 EF46<F E6>= 4><<> 
=4 G5F6UDF>5 45?5=<5 FD5>4 ?>DO4>4 E>44.

$474 2: 4G>F<>= M?5>FD>EF4=F<=

� MF>= D475 >464O= <7D>> <>65F >G?<FL =5 5>?LL5 1 EF4=F<<. -F4 D474 D47O7DO645FEO 6 ?>DO4>5 E>44, 
=4G<=4O E ?5D6>7> <7D>>4 (4><<> >>F>D>7> =4E>4<FEO =4 ?5D6>< 45?5=<< FD5>4 ?>DO4>4 E>44). 

�=4G4?5 ?>?>6<F5 D<L>G E><4>< =4 >4DFG E4<>= 45LU6>= EF4=F<< 6 DO4G 45=EF6GNM57> ?D54?>65=<O. 
�<=<<4?L=4O EF46>4 =4 MFG EF4=F<N E=<645FEO 4> 1 M?5>FD> 6=5 746<E<<>EF< >F =><5D4 EF4=F<<.

�4F5< =4G<=4NFEO F>D7< 74 M?5>FD>EF4=F<<. �5D6O= <7D>> 6O5<D45F >4=> <7 46GE 45=EF6<=:

�. �OEF46?5=<5 EF4=F<< =4 F>D7<

'F>5O 6OEF46<FL EF4=F<N =4 F>D7<, <7D>> 6O5<D45F 1 <7 4 >4DF EF4=F<= 6 DO4G 45=EF6GNM57> ?D54?>65=<O 
< >?44UF =4 =5U D<L>G 4G>F<>=4. �= =5 <>65F 6O5<D4FL >4DFO EF4=F<= <7 DO44 >6<445<>7> ?D54?>65=<O!

�4F5< <7D>> >76GG<645F EF46>G, 74 >>F>DGN >= 7>F>6 >G?<FL MFG EF4=F<N. $47<5D EF46>< 4>?65= 5OFL 5>?LL5 <?< 
D465= =><5DG EF4=F<< (<?< D465= 1 M?5>FD>, 5E?< =4 >4DF5 EF4=F<= ?56<F D<L>4 E><4><). �4G<=4O E <7D>>4, E<4O-
M57> E?564 >F GG4EF=<>4, 6OEF46<6L57> EF4=F<N =4 F>D7<, < 44?55 ?> G4E>6>= EFD5?>5, >464O= <7D>> 6O5<D45F, 
?5D55<FL ?D54O4GMGN EF46>G <?< E?4E>64FL. %?4E>646L<= <7D>> =5 E<>65F 65D=GFLEO > F>D74< 74 MFG EF4=F<N. 
&>D7< ?D>4>?64NFEO, ?>>4 =5 E?4EGNF 6E5 <7D>><, >D><5 >4=>7>. �= ??4F<F 6 54=> E6>N ?>E?54=NN EF46>G, 745<D45F 
>4DFG EF4=F<< < >?44UF 5U ?5D54 E>5>= ?<F56>= EF>D>=>= 665DE. 'F>5O >F<5F<FL, GF> <7D>> >G?<? EF4=F<N 6 MF>= 
D475, >= E46<745F E6>= 4><<> <7 65DE=57> DO44 FD5>4 ?>DO4>4 E>44 =4 45?5=<5 =<6=57> DO44 E F5< 65 =><5D><.

%D47G ?>E?5 MF>7> >F>D>=F5 =>6GN >4DFG <7 >>?>4O EF4=F<= < 6O?>6<F5 5U =4 DO=>> =4 74<5=G >G??5==>=. 
$47?>6<F5 >4DFO EF4=F<= =4 DO=>5 F4>, GF>5O 4 >4DFO 5>?55 45LU6OE EF4=F<= ?564?< 6 DO4G 45=EF6GN-
M57> ?D54?>65=<O < ?D< MF>< E>5?N44?EO ?>DO4>> 6>7D4EF4=<O =><5D>6 6 >5><E DO44E.
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!

�D<<5D: >F>DO645FEO >4DF4 EF4=F<<, 
>>F>D4O >>47O645FEO 5>?55 45LU6>=, G5< 
EF4=F<O, =4 >>F>D>= ?56<F D<L>4 E><4><. 
'44?<F5 ?>E?54=NN >F>DOFGN >4DFG 
EF4=F<< <7 <7DO, E=<<<F5 D<L>G E><4>< 
< ?>?>6<F5 DO4>< E DO=>>< EF4=F<=.

2 3 3 2

2

5 3 6 7

!

�D<<5D: �UFD ?>>G?45F EF4=F<N.

!

�D<<5D: >4644O <7 2 E4<OE 45LU6OE D<L5> 
G7?O EF><F 2 M?5>FD>.

�46=>: 6 DO4G 45=EF6GNM57> ?D54?>65=<O 6E5744 4>?6=O ?564FL 4 >4DFO 5>?55 45LU6OE EF4=F<= (6 ?>DO4>5 
6>7D4EF4=<O =><5D>6), 4 6 DO4G >6<445<>7> ?D54?>65=<O 4 4 >4DFO 5>?55 4>D>7<E EF4=F<= (F4>65 6 ?>DO4>5 
6>7D4EF4=<O =><5D>6).

�D46<?4 ?D>6545=<O 4G>F<>=4 >?<E4=O =<65.

 � ?5D6>< D4G=45 >464O= <7D>> 4>?65= >G?<FL 1 EF4=F<N.

 �>>4 D<L>4 E><4>< ?56<F =4 >4DF5 E4<>= 45LU6>= EF4=F<<, <<=<<4?L=4O EF46>4 =4 =5U E>EF46?O5F 1 M?5>FD>. 
�E?< >4<= <7 <7D>>>6 ?>>G?45F MFG EF4=F<N, ?>?>6<F5 D<L>G E><4>< DO4>< E DO=>>< EF4=F<=.

 �E?< D<L>4 E><4>< 6EU 5MU ?56<F =4 >4DF5 E4<>= 45LU6>= EF4=F<<, >>744 6O 4>?6=O 6O?>6<FL =>6GN 
>4DFG EF4=F<< =4 74<5=G >G??5==>= < >F>DO645FEO >4DF4, =><5D >>F>D>= <5=LL5, G5< =><5D >4DFO 
E D<L>>= E><4><, G44?<F5 =>6GN EF4=F<N <7 <7DO, E=<<<F5 D<L>G E><4>< E >4DFO EF4=F<<, =4 >>F>D>= 
>=4 ?564?4, < ?>?>6<F5 DO4>< E DO=>>< EF4=F<=. �4F5< =5<54?5==> >F>D>=F5 E?54GNMGN >4DFG >>?>4O 
EF4=F<= < 6O?>6<F5 5U =4 DO=>>.

 �E?< 6 F5>GM5< D4G=45 =< >4<= <7D>> =5 >G?<F EF4=F<N E D<L>>= E><4><, 6 >>=F5 D47O 2 MF>7> D4G=44 
G44?<F5 5U <7 <7DO < 6O?>6<F5 =4 DO=>> E?54GNMGN >4DFG >>?>4O EF4=F<=. � >EF4?L=O5 D47O D4G=44 
E><4>4 =5 45=EF6G5F 4 ?>?>6<F5 D<L>G E><4>< DO4>< E DO=>>< EF4=F<=.

 �G?<6 EF4=F<N, <7D>> 6 F5>GM5= D475 5>?LL5 =5 E<>65F ?D<=<<4FL GG4EF<5 6 44?L=5=L<E F>D74E, 
4 F4>65 6OEF46?OFL =4 F>D7< =>6O5 EF4=F<< (57> 4><<> E46<745FEO 6 =<6=<= DO4 FD5>4 ?>DO4>4 E>44).

 �>744 <7D>>, 6OEF46<6L<= EF4=F<N =4 F>D7<, 6O<7DO645F 4G>F<>= < ?>>G?45F MFG EF4=F<N, ?D46> 6OEF4-
6<FL EF4=F<N =4 F>D7< ?5D544UFEO E?54GNM5<G <7D>>G ?> ?>DO4>G E>44, >>F>DO= 5MU =5 >G?<? EF4=F<N 6 MF>< D4G=45 (57> 4><<> =4E>4<FEO 6 65DE=5< 
DO4G FD5>4 ?>DO4>4 E>44). -F>F <7D>> ?<5> 6O5<D45F =>6GN >4DFG EF4=F<< 6 DO4G 45=EF6GNM57> ?D54?>65=<O < 6OEF46?O5F 5U =4 F>D7<, ?<5> ?4EG5F. 
�E?< <7D>>, 6OEF46<6L<= EF4=F<N =4 F>D7<, =5 6O<7DO645F 4G>F<>= (MFG EF4=F<N ?>>G?45F 4DG7>= <7D>>), >= <>65F ?<5> 6OEF46<FL =4 F>D7< 4DG7GN 
EF4=F<N <7 DO44 45=EF6GNM57> ?D54?>65=<O, ?<5> E?4E>64FL.

 �7D>> =5 <>65F 6?445FL 5>?LL5 G5< 3 EF4=F<O<< >4=>6D5<5==>. �>>G?4O G5F6UDFGN EF4=F<N, >= 4>?65= =5<54?5==> E=5EF< >4=G <7 >G??5==OE D4=55 
EF4=F<= (G44?<FL 5U <7 <7DO). �7D>> =5 <>65F E=5EF< F>?L>> GF> >G??5==GN G5F6UDFGN EF4=F<N. �D< MF>< >= <>65F ?5D5=5EF< D<L>< D5EGDE>6, ED4-
=<6L<5EO =4 E=5EU==>= EF4=F<<, =4 >4=G <?< =5E>>?L>> >EF46L<EEO FDUE EF4=F<=, 5E?< >=< ?>76>?ONF ED4=<FL MF< D5EGDEO. �E?< G <7D>>4 =5F EF4=F<=, 
<E?>?L7GNM<E MF< D5EGDEO, <?< =4 >EF46L<EEO G <7D>>4 EF4=F<OE =54>EF4F>G=> <5EF4 4?O ED4=5=<O MF<E D5EGDE>6, >= 6>76D4M45F D<L>< D5EGDE>6 
E=5EU==>= EF4=F<< 6 74?4E (=> =5 =4 DO=>> D5EGDE>6, E<. D4745? «�4DFO M?5>FD>EF4=F<=» =4 EFD. 3).

 �>E?54=<= <7D>>, 6OEF46?ONM<= EF4=F<N =4 F>D7< 6 F5>GM5< D4G=45, ?>>G?45F 6O5D4==GN EF4=F<N 74 5U <<=<<4?L=GN EF46>G (D46=GN =><5DG EF4=F<<).

�. �4E

�E?< <7D>> =5 E>G5F 6OEF46?OFL EF4=F<N =4 F>D7<, >= 4>?65= E?4E>64FL. � F4>>< E?GG45 >= 5>?LL5 =5 E<>65F GG4EF6>64FL 6 F>D74E F5>GM5= D47O < =5 
?>?GG<F =>6GN EF4=F<N 6 MF>< D4G=45. 'F>5O >F<5F<FL, GF> <7D>> 74>>=G<? MFG D47G, >= E46<745F E6>= 4><<> <7 65DE=57> DO44 FD5>4 ?>DO4>4 E>44 =4 
45?5=<5 =<6=57> DO44 E F5< 65 =><5D><. �D46> 6OEF46<FL EF4=F<N =4 F>D7< ?5D544UFEO E?54GNM5<G <7D>>G ?> ?>DO4>G E>44, >>F>DO= 5MU =5 >G?<? 
EF4=F<N 6 MF>< D4G=45 (57> 4><<> =4E>4<FEO 6 65DE=5< DO4G FD5>4 ?>DO4>4 E>44).  

�E>?NG5=<5, 45=EF6GNM55 6 ?5D6>< D4G=45: F4> >4> ?>DO4>> E>44 6 =4G4?5 <7DO 5O? >?D545?U= E?GG4==O< >5D47><, F>?L>> 6 ?5D6>< D4G=45 <7D>>< 
4>?6=O 6 >>=F5 MF>= D47O 74=>6> >?D545?<FL ?>DO4>> E>44. �>E>>?L>G =4 MF>F <><5=F G 6E5E <7D>>>6 5G45F ?> >4=>= EF4=F<<, 4?O >?D545?5=<O ?>DO4>4 
E>44 =4 >EF46L<5EO D47O D4G=44 <E?>?L7G=F5 ?D46<?> D47D5L5=<O =<GL5=, >?<E4==>5 6 D4745?5 «$474 1: >?D545?5=<5 ?>DO4>4 E>44»: ?5D6O< EF4=>6<FEO 
<7D>>, >G?<6L<= EF4=F<N E =4<5>?LL<< =><5D><, < F. 4.

�>E?5 F>7> >4> 6E5 <7D>>< 7465DL4F MFG D47G, E46<=LF5 6E5 4><<>< <7D>>>6 <7 =<6=57> DO44 ?>DO4>4 E>44 6 65DE=<=.

$474 3: ?>>G?>4 D5EGDE>6

� MF>= D475 <7D>>< <>7GF >G?<FL F>??<6> 4?O E6><E EF4=F<= =4 DO=>5 D5EGDE>6. -F4 D474 D47O7DO645FEO 6 >5D4F=>< ?>DO4>5 E>44: =4G<=4O E ?>E?54=57> 
<7D>>4 (4><<> >>F>D>7> =4E>4<FEO ?D4655 >EF4?L=OE =4 FD5>5 ?>DO4>4 E>44) < 74>4=G<64O ?5D6O<.

�4> G65 5O?> E>474=> 6 D4745?5 «�4DFO M?5>FD>EF4=F<=», 4?O ?D><76>4EF64 M=5D7<< >464>= EF4=F<< FD55G5FEO G>474==>5 =4 5U >4DF5 >>?<G5EF6> 
D<L5> D5EGDE>6 (5U =>D<4 F>??<64), 4 <4>E<<4?L=>5 >>?<G5EF6> D<L5> D5EGDE>6, >>F>D>5 <>6=> ED4=<FL =4 =5=, D46=> G46>5==>= =>D<5 F>??<64. 
�D< MF>< ED4=<FL =4 EF4=F<< <>6=> D5EGDEO F>?L>> F>7> F<?4 (<?< F<?>6), >>F>DO= =4 =5= <E?>?L7G5FEO 6 >4G5EF65 F>??<64. �7D>> <>65F ?>>G?4FL 
E>>?L>> G7>4=> D<L5> D5EGDE>6 4?O E6><E EF4=F<=, ?>>4 =4 =<E >EF4UFEO <5EF> 4?O <E ED4=5=<O. �7D>> =5 <>65F ?>>G?4FL D5EGDEO, >>F>DO5 =5 
<E?>?L7GNFEO 6 >4G5EF65 F>??<64 =< =4 >4=>= <7 57> F5>GM<E EF4=F<=.

  �D<<5D: =4 EF4=F<< E =><5D>< 03 <>6=> ED4=<FL =5 5>?LL5 4 D<L5> <47GF4, =4 7<5D<4=>= 
EF4=F<< E =><5D>< 05 <>6=> ED4=<FL EG<<4D=> =5 5>?LL5 4 D<L5> G7?O </<?< <47GF4 6 ?N5>= 
>><5<=4F<<. ->>?>7<G5E>4O EF4=F<O E =><5D>< 13 =5 =G6445FEO 6 F>??<65, ?>MF><G =4 =5= =5?L7O 
ED4=<FL D5EGDEO.

�7D>>< ?>>G?4NF D<L>< D5EGDE>6, =4E>4OM<5EO 6 OG5=>4E DO=>4 D5EGDE>6. '<E?>, G>474==>5 
6 E<<6>?5 <>=5FO 6 ?D46>< 65DE=5< G7?G >464>= OG5=><, >5>7=4G45F F5=G, 74 >>F>DGN <>6=> 
>G?<FL >464GN D<L>G D5EGDE4 6 MF>= OG5=>5. �4 >464GN ?>>G?45<GN D<L>G D5EGDE4 <7D>> ??4F<F 
G>474==>5 >>?<G5EF6> M?5>FD> 6 54=>. �G?<6 65?45<>5 >>?<G5EF6> D5EGDE>6, <7D>> E46<745F E6>= 
4><<> <7 65DE=57> DO44 FD5>4 ?>DO4>4 E>44 =4 45?5=<5 =<6=57> DO44 E F5< 65 =><5D><, ?>E?5 
G57> ?D46> >G?<FL D5EGDEO ?5D5E>4<F > E?54GNM5<G <7D>>G 6 >5D4F=>< ?>DO4>5 E>44.
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�D<<5D: OG5=>4 «10» 4>EFG?=4 E =4G4?4 
?4DF<<, OG5=>4 «15» EF4=>6<FEO 4>EFG?-
=>=, =4G<=4O E MF4?4 2; OG5=>4 «20» EF4-
=>6<FEO 4>EFG?=>=, =4G<=4O E MF4?4 3.

�E?< 6 F5>GM5< D4G=45 74>4=G<64NFEO D5EGDEO >4>>7>-?<5> F<?4, <7D>>< 5>?LL5 =5 <>7GF ?>>G?4FL =4 DO=>5 D5EGDEO MF>7> F<?4 4> >>=F4 D4G=44, 
=> ?5D54 E?54GNM<< D4G=4>< >=< 6=>6L ?>O6OFEO =4 DO=>5 D5EGDE>6.

%F>D>=4 ?>?O «%,�»: <7D>>< 6E5744 <>7GF ?>>G?4FL D<L>< G7?O ?> 8 M?5>FD> 74 >464GN. $<L>< G7?O ED4=OFEO =5 6 >5M5< 74?4E5, 
4 6 >E>5>= OG5=>5, D4E?>?>65==>= =44 DO=>>< D5EGDE>6, 4 6 ED4=<?<M5 G7?O. �E?< =4 DO=>5 D5EGDE>6 74>4=G<64NFEO D<L>< G7?O,  
<7D>>< <>7GF ?>>G?4FL <E 6 ED4=<?<M5. 

� ?N5>= <><5=F <7DO GG4EF=<>< <>7GF ?5D5D4E?D545?OFL D<L>< D5EGDE>6 <564G E6><<< EF4=F<O<<, 5E?< F5 EF4=F<<, =4 >>F>DO5 >=< ?5D5>?44O64NF 
D5EGDEO, ?>76>?ONF ED4=<FL D5EGDEO MF>7> F<?4 6 F4>>< >>?<G5EF65. 

�>E?5 F>7> >4> 6E5 <7D>>< 7465DL4F MFG D47G, E46<=LF5 6E5 4><<>< <7D>>>6 <7 =<6=57> DO44 ?>DO4>4 E>44 6 65DE=<=.

$474 4: EFD><F5?LEF6>

� MF>= D475 <7D>>< <>7GF D4EL<DOFL E6>< E5F<, ?D<E>54<=OO > =<< =>6O5 7>D>44. �4> < D474 3, MF4 D474 D47O7DO645FEO 6 >5D4F=>< ?>DO4>5 E>44: =4G<=4O 
E ?>E?54=57> <7D>>4 (4><<> >>F>D>7> =4E>4<FEO ?D4655 >EF4?L=OE =4 FD5>5 ?>DO4>4 E>44) < 74>4=G<64O ?5D6O<. 

� =4G4?5 ?4DF<< G <7D>>>6 =5F 7>D>4>6, 4 E?54>64F5?L=>, =5F < E5F5=. 'F>5O =4G4FL EFD><F5?LEF6> E6>5= E5F< < ?>EF46<FL =4 ?>?5 ?5D6O= 4><<>, <7D>> 
6O5<D45F ?N5>= =574=OFO= 7>D>4 (=5 6O5D4==O= 4> MF>7> 4DG7<< <7D>>><) 6 ?N5>< <5EF5 <7D>6>= 7>=O. �4F5< >= EF46<F E6>= 4><<> 6 OG5=>G «10» MF>7> 
7>D>44 < ??4F<F 10 M?5>FD> 6 54=> 74 ?>4>?NG5=<5 ?5D6>7> 7>D>44.

�4D<4=F <7DO «%F4DF>6O5 7>D>44» (4?O >?OF=OE GG4EF=<>>6): >>744 <7D>> =4G<=45F EFD><F5?LEF6> E6>5= E5F< (?>4>?NG45F E6>= ?5D6O= 7>D>4) 
6 ?5D6>< <?< 6 >4=>< <7 ?>E?54GNM<E D4G=4>6, >= 4>?65= 6O5D4FL >4<= <7 7>D>4>6, >F<5G5==OE D<L>4<< GD4=4. �D< MF>< <7D>> =5 >5O74= 6O5<D4FL 
<<5==> F>F 7>D>4, =4 >>F>DO= >= E4< ?>?>6<? D<L>G GD4=4 ?D< ?>47>F>6>5 > <7D5. �O5D46 7>D>4, <7D>> G5<D45F 6 74?4E ?564MGN =4 =U< D<L>G GD4=4 
< EF46<F E6>= 4><<> 6 OG5=>G «10» MF>7> 7>D>44. �4 MF4?5 1 <7D>>< =5 <>7GF ?>4>?NG4FL MF< 7>D>44 > E6><< E5FO<, <=4G5 >4> 6O5D46 >4<= <7 =<E 6 >4G5EF65 
EF4DF>6>7> 7>D>44 (E<. D4745? «-F4?O <7DO» =4 EFD. 8).

�N5>= ?>E?54GNM<= 7>D>4, >>F>DO= <7D>> ?>4>?NG45F > E6>5= E5F<, 4>?65= 5OFL E>54<=U= >4=>= <?< =5E>>?L><<< ?<=<O<< M?5>FD>?5D544G E>FO 5O 
E >4=<< <7 7>D>4>6, G65 ?>4>?NGU==OE > 57> E5F< (6 >>F>D>< 5EFL 57> 4><<>). �>744 <7D>> ?>4>?NG45F > E5F< =>6O= 7>D>4, >= 6O5<D45F ?<=<N (<?< 
=5E>>?L>> ?<=<=) M?5>FD>?5D544G E =4<<5=LL5= EF><<>EFLN, >>F>D4O E>54<=O5F =>6O= 7>D>4 E >4=<< <7 7>D>4>6 57> E5F<. �4F5< >= ??4F<F 6 54=> EG<<G 
EF><<>EF< MF>= ?<=<< (<?< MF<E ?<=<=) M?5>FD>?5D544G < EF><<>EF< E4<>7> 45LU6>7> 744=<O 6 MF>< 7>D>45 (6 >464>< 7>D>45 5EFL 3 OG5=>< 4?O 744=<= 
EF><<>EFLN 10, 15 < 20 M?5>FD>, < >4644O <7 =<E 6<5M45F 1 4><<>). 

�4 >4=G D47G <7D>> <>65F 6 E6>= E>4 ?>4>?NG<FL > E5F< ?N5>5 >>?<G5EF6> 7>D>4>6, 5E?< 5<G E64F45F M?5>FD> 74??4F<FL EF><<>EFL ?>EFD>=>< 744=<O 
< ?D>6545=<O ?<=<= M?5>FD>?5D544G 4?O >464>7> <7 =<E. �>4>?NG<6 > E6>5= E5F< 65?45<>5 >>?<G5EF6> 7>D>4>6, <7D>> E46<745F E6>= 4><<> <7 65DE=57> 
DO44 FD5>4 ?>DO4>4 E>44 =4 45?5=<5 =<6=57> DO44 E F5< 65 =><5D><, ?>E?5 G57> ?D46> ?>4>?NG5=<O =>6OE 7>D>4>6 ?5D5E>4<F > E?54GNM5<G <7D>>G 
6 >5D4F=>< ?>DO4>5 E>44.

�D46<?4 EFD><F5?LEF64 >?<E4=O =<65.

 �4 MF4?5 1 >464O= 7>D>4 <>65F 5OFL ?>4>?NGU= > E5F< F>?L>> >4=>7> <7D>>4, =4 MF4?5 2 >464O= 7>D>4 <>65F 5OFL ?>4>?NGU= > E5FO< 46GE <7D>>>6, 
<, =4>>=5F, =4 MF4?5 3 >464O= 7>D>4 <>65F 5OFL ?>4>?NGU= > E5FO< FDUE <7D>>>6. �5M4O EF><<>EFL ?>4>?NG5=<O 7>D>44 E>EF46?O5F 10, 15 <?< 20 M?5>-
FD> 74 ?>EFD>=>G 744=<O 4?O ?5D6>7>, 6F>D>7> < FD5FL57> <7D>>4 E>>F65FEF65==> ??NE EF><<>EFL ?D>6545=<O ?<=<= M?5>FD>?5D544G <564G 7>D>44<<.

 �7D>> <>65F ?>4>?NG<FL > E6>5= E5F< ?N5>= 7>D>4, =4E>4OM<=EO 6 <7D>6>= 7>=5, 6 >>F>D>< 5EFL 
=574=OF4O OG5=>4 744=<O, E GGUF>< >7D4=<G5=<O F5>GM57> MF4?4. 'F>5O E>54<=<FL =>6O= 7>D>4 E >4=<< 
<7 7>D>4>6 E6>5= E5F<, <7D>> <>65F <E?>?L7>64FL ?N5>5 >>?<G5EF6> ?<=<= M?5>FD>?5D544G, 6>?NG4O 
F5, >>F>DO5 ?D>E>4OF G5D57 7>D>44, 6 >>F>DOE =5F 57> 4><<>4 (F. 5. <7D>> <>65F ?D>?GE>4FL =5>>F>DO5 
7>D>44, =5 6OEF46?OO 6 =<E E6>< 4><<><).

 �7D>>< =5 <>7GF <E?>?L7>64FL 7>D>44 < ?<=<< M?5>FD>?5D544G, =5 6E>4OM<5 6 <7D>6GN 7>=G, 6O5D4==GN 
6 =4G4?5 ?4DF<<.

 �5>>F>DO5 7>D>44 E>54<=5=O 4DG7 E 4DG7>< ?<=<5= M?5>FD>?5D544G, =4 >>F>D>= =5 G>474=4 EF><<>EFL 
(F. 5. 5U EF><<>EFL D46=4 0). �D< ?>4>?NG5=<< 7>D>44 E ?><>MLN ?<=<< M?5>FD>?5D544G E =G?56>= EF>-
<<>EFLN <7D>>G =G6=> ??4F<FL F>?L>> 74 ?>EFD>=>G 744=<O. �D< MF>< >= 6EU D46=> =5 <>65F ?>EF46<FL 
5>?LL5 1 4><<>4 6 >464O= <7 7>D>4>6, E>54<=U==OE F4>>= ?<=<5=.

 �7D>> =5 <>65F 46464O ?>4>?NG<FL > E5F< >4<= < F>F 65 7>D>4. &4><< >5D47><, =4 MF4?5 3 >464O= 7>D>4 6E5744 4>EFG?5= 4?O ?>4>?NG5=<O FD5<O 
<7D>>4<<.

 �>4>?NG<6 7>D>4 > E5F<, <7D>> EF46<F >4<= <7 E6><E 4><<>>6 6 =574=OFGN OG5=>G MF>7> 7>D>44 E =4<<5=LL5= EF><<>EFLN (10, 15 <?< 20 M?5>FD>). 
�4?D<<5D, 5E?< =4 MF4?5 2 6E5 OG5=>< 7>D>44 6EU 5MU =5 74=OFO, <7D>> <>65F ?>4>?NG<FL MF>F 7>D>4 74 10 M?5>FD> (557 GGUF4 EF><<>EF< ?<=<< M?5>FD>-
?5D544G).

 %5FL <7D>>4 ?D54EF46?O5F E>5>= E>6>>G?=>EFL 6E5E ?>4>?NGU==OE > =5= 7>D>4>6. �7D>> <>65F D4EL<DOFL E6>N E5FL F>?L>> E ?><>MLN ?<=<= M?5>FD>-
?5D544G, 654GM<E <7 7>D>4>6 57> E>5EF65==>= E5F<. �E?< <7D>> 6 F5G5=<5 >4=>7> E>44 ?>4>?NG45F > E5F< =5E>>?L>> 7>D>4>6, >= <>65F <E?>?L7>64FL 
7>D>44, ?>4>?NGU==O5 6 MF>F E>4, 4?O ?>4>?NG5=<O E?54GNM<E 7>D>4>6. �D< ?>4>?NG5=<< > E5F< >464>7> =>6>7> 7>D>44 <7D>> 6E5744 ??4F<F EG<<G 
EF><<>EF< ?>EFD>=>< 744=<O < EF><<>EF< ?D>6545=<O ?<=<= M?5>FD>?5D544G >F >4=>7> <7 G65 ?>4>?NGU==OE 7>D>4>6 > =>6><G 7>D>4G, 4465 5E?< <E-
?>?L7G5F ?<=<N, 74 >>F>DGN G65 ??4F<? 6 >4=>< <7 ?D54O4GM<E D4G=4>6 MF>= ?4DF<< (=4?D<<5D, <7D>> ?D>?GEF<? >4>>=-?<5> 7>D>4, GF>5O 4>5D4FLEO 
4> 4DG7>7> 7>D>44, 4 74F5< 74E>F5? ?>4>?NG<FL ?D>?GM5==O= 7>D>4).
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  �D<<5D: D47O7DO645FEO MF4? 1. �4?<=4 (<7D4NM4O D<>?5F>6O<<) <>65F ?>4>?NG<FL 
> E6>5= E5F< �G=E5GD7 74 10 M?5>FD>, ?>E>>?L>G EF><<>EFL ?<=<< M?5>FD>?5D544G <564G 
�G=E5GD7>< < -EE5=>< D46=4 0 A . 'F>5O ?>4>?NG<FL �>DF<G=4, >=4 4>?6=4 74??4F<FL 
12 M?5>FD> (10 + 2), 5E?< 6>E?>?L7G5FEO 5>?55 45LU6>= ?<=5= M?5>FD>?5D544G, 654GM5= 
<7 �N=EF5D4 � . 'F>5O ?>4>?NG<FL > E5F< �E5=, �4?<=5 =G6=> 74??4F<FL 6 >5M5= EG<<5 
21 M?5>FD> (10 + 9 + 2), ?>E>>?L>G 5= =G6=> 6>E?>?L7>64FLEO 46G<O ?<=<O<< M?5>FD>?5D544G, 
?D>E>4OM<<< G5D57 �NEE5?L4>DD � .

 �?O �5FD4 (<7D4NM57> >D4E=O<<) ?>4>?NG5=<5 �G=E5GD74 F4>65 5G45F =54>D>7<<: >= 
<>65F 6>E?>?L7>64FLEO ?<=<O<< M?5>FD>?5D544G, ?D>E>4OM<<< G5D57 -EE5= � , 
< 74??4F<F F4><< >5D47>< 12 M?5>FD> (10 + 2 + 0).

 �E?< 5O G65 =4G4?EO MF4? 2, �4?<=4 <>7?4 5O ?>4>?NG<FL > E5F< �NEE5?L4>DD �  74 17 M?5>-
FD> (15 + 2) <?< �U?L= �  74 21 M?5>FD> (15 + 2 + 4). �E?< �4?<=4 ?>4>?NG<F >54 7>D>44 74 
>4<= E>4, >=4 74??4F<F 36 M?5>FD> (17 M?5>FD> 74 �NEE5?L4>DD < 19 M?5>FD> 74 �U?L=).

 �7D>>< =5 >5O74=O 6O5<D4FL EF4DF>6O5 7>D>44 E6><E E5F5= 6 ?5D6>< D4G=45. �7D>> <>65F =4G4FL E>74464FL E6>N E5FL 6 >4=>< <7 ?>E?54GNM<E D4G=-
4>6 4 F4>F<G5E>< MF> <>65F 5OFL 6O7>4=>, 5E?< >= E>G5F 74=OFL >4=> <7 ?>E?54=<E 45?5=<= =4 FD5>5 ?>DO4>4 E>44.

 �E?< <7D>> ?>4>?NG45F > E5F< =5E>>?L>> 7>D>4>6 74 >4<= E>4, D5>><5=4G5FEO =5 EF46<FL 4><<>< 6 MF< 7>D>44 ED47G 65DF<>4?L=>, 4 E=4G4?4 >?4EFL <E 
??4L<O 4 F4><< >5D47>< 5<G 5G45F ?57G5 ?>EG<F4FL EF><<>EFL ?>4>?NG5=<O 6E5E =>6OE 7>D>4>6. �4??4F<6 FD55G5<GN EG<<G, >= EF46<F 6E5 E6>< 
4><<>< 65DF<>4?L=>.

 �>4>?NG<6 > E5F< =>6O= 7>D>4, <7D>> =5<54?5==> ?D>46<745F E6>= 4><<> ?> EGUFG<>G ?>4>?NGU==OE 7>D>4>6, GF>5O 6E5 <7D>>< <>7?< 6<45FL, E>>?L>> 
7>D>4>6 6 E5F< ?N5>7> E>?5D=<>4.

�>E?5 F>7> >4> 6E5 <7D>>< 7465DL4F MFG D47G, E46<=LF5 6E5 4><<>< <7D>>>6 <7 =<6=57> DO44 ?>DO4>4 E>44 6 65DE=<=.

$474 5: 5ND>>D4F<O

� MF>= D475 <7D>>< E=4564NF M?5>FD<G5EF6>< 7>D>44 E6><E E5F5= < ?>?GG4NF ?D<5O?L <7 54=>4. �4F5< >=< ?>?>?=ONF DO=>> D5EGDE>6 < >5=>6?ONF 
DO=>> EF4=F<=.

1.   �>?GG5=<5 ?D<5O?<: =4G<=4O E ?5D6>7> <7D>>4, >464O= GG4EF=<> >5NO6?O5F, E>>?L>> 7>D>4>6 E6>5= E5F< >= E>G5F < <>65F E=454<FL M?5>FD<G5-
EF6><. �4F5< <7D>> ?>?GG45F ?D<5O?L 6 746<E<<>EF< >F >>?<G5EF64 E=456U==OE M?5>FD<G5EF6>< 7>D>4>6 (E>7?4E=> ?4<OF>5 ?> ?D<5O?<). �7D>>, =5 
>55E?5G<6L<= M?5>FD<G5EF6>< =< >4<= <7 E6><E 7>D>4>6, ?>?GG45F 10 M?5>FD> 6 >4G5EF65 74D4=F<D>64==>= ?D<5O?<. $<L>< D5EGDE>6, <E?>?L7>64=-
=O5 =4 EF4=F<OE 6 MF>< D4G=45 4?O ?D><76>4EF64 M=5D7<<, <7D>>< G5<D4NF 6 74?4E DO4>< E <7D>6O< ?>?5< (=5 >?44<F5 <E 6 OG5=>< DO=>4 D5EGDE>6). 

�D<<5G4=<5: >>?<G5EF6> 45=57 G <7D>>>6 EG<F45FEO 74>DOF>= <=D>D<4F<5=.

  �7D>> <>65F E=454<FL M?5>FD<G5EF6>< <5=LL5 7>D>4>6, G5< ?>4>?NG5=> > 57> E5F< (?> E>5EF65==><G 65?4=<N <?< <7-74 >FEGFEF6<O =G6=OE 
D5EGDE>6), 4 6 F4>>< E?GG45 >= ?>?GG45F ?D<5O?L F>?L>> 74 F5 7>D>44, >>F>DO5 5O?< >55E?5G5=O M?5>FD<G5EF6><. �E?< <7D>> ?D><76U? 
5>?LL5 M?5>FD>M=5D7<<, G5< 5O?> =5>5E>4<<> 7>D>44< 57> E5F<, 6E5 <7?<L>< ?D>?444NF. �464O= <7D>> <>65F 6O5<D4FL, >4><5 <7 57> EF4=F<= 
?D><7654GF M=5D7<N, 4 >4><5 4 =5F. �= =5 >5O74= E=4564FL M?5>FD<G5EF6>< 6E5 7>D>44 E6>5= E5F<, 4465 5E?< 57> EF4=F<< ?>76>?ONF MF> E45?4FL 
< =4 =<E ED4=OFEO 6E5 =5>5E>4<<O5 4?O MF>7> D5EGDEO.

   �D<<5D: 6 E5F< �4?<=O 6 7>D>4>6, < G =5U 5EFL EF4=F<< E =><5D4<< 
07, 10 < 15, =4 >464>= <7 >>F>DOE ED4=<FEO <4>E<<4?L=> 6>7<>6=>5 
>>?<G5EF6> D<L5> D5EGDE>6. �=4 G5<D45F 4 D<L>< G7?O < 3 D<L>< <47GF4 
E> E6><E >4DF EF4=F<=, 6>76D4M4O <E 6 74?4E DO4>< E <7D>6O< ?>?5<, 
GF>5O ?D><765EF< M?5>FD<G5EF6>, 4>EF4F>G=>5 4?O >55E?5G5=<O 7 7>D>4>6 
(2 + 2 + 3). �>E>>?L>G 6 E5F< �4?<=O F>?L>> 6 7>D>4>6, >=4 ?>?GG45F 74 =<E 
73 M?5>FD>, 4 <7?<L>< M?5>FD>M=5D7<< ?D>?444NF.

%F>D>=4 ?>?O «%,�»: 5E?< 4?O ?D><76>4EF64 M=5D7<< <7D>> 6 >4G5EF65 F>??<64 <E?>?L7G5F D<L>< G7?O, >= >?44UF <E 6 OG5=>G ED4=<?<M4 
G7?O, D4E?>?>65==GN =44 DO=>>< D5EGDE>6. �>744 <7D>>< ?>?>?=ONF DO=>> D5EGDE>6, >=< 55DGF D<L>< G7?O <7 MF>7> ED4=<?<M4.

2.   �>?>?=5=<5 DO=>4 D5EGDE>6: 6 746<E<<>EF< >F G<E?4 <7D>>>6 < F5>GM57> MF4?4 <7DO 6O?>6<F5 =4 DO=>> D5EGDE>6 
E>>F65FEF6GNM55 >>?<G5EF6> D<L5> D5EGDE>6 <7 74?4E4 (>=> G>474=> 4?O >464>7> F<?4 D5EGDE>6 =4 ?4<OF>5 ?> 74?>?=5=<N 
DO=>4 D5EGDE>6, ?564M5= 6 E?5F<4?L=>= OG5=>5 =4 <7D>6>< ?>?5). �?O >464>7> F<?4 D5EGDE>6 ?>?>?=5=<5 DO=>4 
=4G<=45FEO E OG5=>< E =4<5>?LL5= F5=>=, 6 >>F>D>= 5EFL =574?>?=5==O5 E<<6>?O D5EGDE4 MF>7> F<?4, < ?D>4>?645FEO 
6 EF>D>=G OG55> E <5=LL5= F5=>=. �O>?44O64=F5 ?> >4=>= D<L>5 D5EGDE4 =4 >464O= =574?>?=5==O= E<<6>?, ?>>4 =5 
6O?>6<F5 G>474==>5 >>?<G5EF6> D<L5> D5EGDE>6 >464>7> F<?4.

�>?<G5EF6> D<L5> D5EGDE>6 6 <7D5 >7D4=<G5=>. �E?< 6 74?4E5 >EF4?>EL <5=LL5 D<L5> D5EGDE>6 >4>>7>-?<5> F<?4, G5< 
=G6=> 6O?>6<FL =4 DO=>>, 6O?>6<F5 F>?L>> >EF46L<5EO D<L><. &4><< >5D47><, MF>F F<? D5EGDE>6 6>E?>?=O5FEO =5 
?>?=>EFLN (MF> <>65F ?D><7>=F<, >>744 <7D>>< =4G<=4NF ED4=<FL 5>?LL>5 >>?<G5EF6> D5EGDE>6 =4 E6><E EF4=F<OE).
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!

�D<<5D: 5E?< 6 ?4DF<< GG4EF6GNF 235 <7D>>>6, 
MF4? 2 =4G=UFEO ?>E?5 F>7>, >4> E>FO 5O >4<= <7 
=<E ?>4>?NG<F > E6>5= E5F< 7 7>D>4>6.

6

  �D<<5D: 5 GG4EF=<>>6 <7D4NF =4 EF>D>=5 ?>?O «�5D<4=<O». � ?5D6>< D4G=45 >=< >G?<?< EG<<4D=> 10 D<L5> G7?O, 2 D<L>< <47GF4 < 1 D<L>G 
6F>DEODLO. %>7?4E=> ?4<OF>5 ?> 74?>?=5=<N DO=>4 D5EGDE>6 4?O 5 <7D>>>6, =4 MF4?5 1 =G6=> 6O?>6<FL =4 DO=>> 5 D<L5> G7?O, 4 D<L>< <47GF4, 
3 D<L>< 6F>DEODLO < 2 D<L>< GD4=4. �>E>>?L>G 6 74?4E5 >EF4?>EL F>?L>> 4 D<L>< G7?O (>EF4?L=O5 ED4=OFEO =4 EF4=F<OE <7D>>>6), GG4EF=<-
>< >?44GF 1 D<L>G G7?O 6 OG5=>G «4» < 3 D<L>< 4 6 OG5=>G «3» (74?>?=5=<5 6E5744 =4G<=45FEO E OG55> E =4<5>?LL5= F5=>=, 6 >>F>DOE 5EFL 
=574?>?=5==O5 E<<6>?O). �4F5< <7D>>< >?44GF ?> 2 D<L>< <47GF4 6 OG5=>< «3» < «2». �>E?5 MF>7> >=< >?44GF 1 D<L>G 6F>DEODLO 6 OG5=>G «6» 
< 2 D<L>< 6F>DEODLO 6 OG5=>G «5». � =4>>=5F, ?> 1 D<L>5 GD4=4 <7D>>< >?44GF 6 OG5=>< «12» < «10».

 �>E?5 ?>?>?=5=<O DO=>> D5EGDE>6 6O7?O4<F E?54GNM<< >5D47><:

 
�>E?5 >>>=G4=<O ?5D6>7> D4G=44 F5=4 =4 G7>?L ?>4=O?4EL 4> 3 M?5>FD> 74 E4<GN 45LU6GN D<L>G (6 =4G4?5 ?4DF<< G7>?L <>6=> 5O?> >G?<FL 74 
1 M?5>FD>). �D< MF>< <47GF, 6F>DEODLU < GD4= EF4?< 45L56?5, G5< 6 =4G4?5 ?4DF<<.

%F>D>=4 ?>?O «�5D<4=<O»: =4 MF>= EF>D>=5 ?>?O 45=EF6G5F >E>5>5 ?D46<?> «�F>47 >F O45D=>= M=5D75F<><». �=> 74>?NG45FEO 
6 E?54GNM5<: 5E?< 6 D475 2 («�G>F<>= M?5>FD>EF4=F<=») >4<= <7 <7D>>>6 ?>>G?45F 4F><=GN M?5>FD>EF4=F<N E =><5D>< 39, DO=>> 
D5EGDE>6 5>?LL5 =5 5G45F ?>?>?=OFLEO D<L>4<< GD4=4 4> >>=F4 ?4DF<<. �E?< =<>F> <7 <7D>>>6 =5 >G?<F >4DFG EF4=F<< E =><5-
D>< 39 <?< 5E?< >=4 >>474?4EL ED54< >4DF, >>F>DO5 <7D>>< G5D4?< 6 >>D>5>G ?D< ?>47>F>6>5 > <7D5, MF> ?D46<?> =5 6EFG?<F 6 E<?G.

3.   �5=>6?5=<5 DO=>4 EF4=F<=: 5E?< D47O7DO645FEO MF4? 1 <?< 2, G55D<F5 <7 DO44 >6<445<>7> ?D54?>65=<O >4DFG EF4=F<< E =4<5>?LL<< =><5D>< 
< ?>?>6<F5 5U ?<F56>= EF>D>=>= 6=<7 ?>4 =<7 >>?>4O EF4=F<=. �F>D>=F5 65DE=NN >4DFG >>?>4O EF4=F<= < ?>?>6<F5 5= =4 74<5=G. $47?>6<F5 
>4DFO EF4=F<= =4 DO=>5 F4>, GF>5O 4 >4DFO 5>?55 45LU6OE EF4=F<= ?564?< 6 DO4G 45=EF6GNM57> ?D54?>65=<O < ?D< MF>< E>5?N44?EO ?>DO4>> 
6>7D4EF4=<O =><5D>6 6 >5><E DO44E. &4><< >5D47><, ?>4 >4DF>= «-F4? 3» 6 >>?>45 EF4=F<= ?>EF5?5==> E>55DGFEO >4DFO =4<5>?55 4>D>7<E EF4=F<=, 
>>F>DO5 =4 MF4?5 3 6=>6L EF4=GF 4>EFG?=O 4?O ?>>G?><.

�E?< D47O7DO645FEO MF4? 3, G55D<F5 <7 <7DO >4DFG EF4=F<< E =4<<5=LL<< =><5D>< <7 DO44 45=EF6GNM57> ?D54?>65=<O < >F>D>=F5 5= =4 74<5=G 
65DE=NN >4DFG >>?>4O EF4=F<=. $47?>6<F5 >4DFO EF4=F<= =4 DO=>5 F4>, GF>5O E>5?N44?EO ?>DO4>> 6>7D4EF4=<O =><5D>6. � ?>E?54=<E D4G=44E <7DO 
>>?>44 EF4=F<= <>65F 74>>=G<FLEO. � F4>>< E?GG45 =>6O5 >4DFO EF4=F<= 5>?LL5 >F>DO64FLEO =5 5G4GF; 4> >>=F4 ?4DF<< 6 >464>= D475 5 ?D>4>?64=-
F5 G5<D4FL <7 <7DO >4DFG EF4=F<< E =4<<5=LL<< =><5D><. 

�4 MF>< 7465DL45FEO D474 5, 4 6<5EF5 E =5= < F5>GM<= D4G=4. �4G<=45FEO D474 1 =>6>7> D4G=44.

-F4?O <7DO

�7D4 ?D>E>4<F 6 3 MF4?4. -F4? 1 =4G<=45FEO 6<5EF5 E =4G4?>< ?4DF<<. -F4? 2 =4G<=45FEO, >>744 >4<= <7 <7D>>>6 ?5D6O< ?>4>?NG<F > E6>5= E5F< 
>?D545?U==>5 >>?<G5EF6> 7>D>4>6. -F4? 3 =4G=UFEO, >>744 <7 >>?>4O EF4=F<= 5G45F >F>DOF4 >4DF4 «-F4? 3». �4> ?D46<?>, <7D4 74>4=G<645FEO 6> 6D5<O 
D>7O7DOL4 MF4?4 3, => 6 =5>>F>DOE E?GG4OE <>65F 74>>=G<FLEO < =4 MF4?5 2.

� MF>< D4745?5 >?<EO64NFEO >F?<G<O 6 ?D46<?4E 4?O >464>7> <7 FDUE MF4?>6, 4 F4>65 >E>5O5 E<FG4F<<, >>F>DO5 6>7=<>4NF 6> 6D5<O <E D>7O7DOL4.
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